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Once upon. a time, there wasl a farmer living on the bank of the river Krishna.
Close to his house he had three or four acres of land. He depended for his living
on this'_ land. One day he Was digging'and ploughing his land. He noticed a
bright diamond at a particular spot. | It was very attractive.
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CORPORATE ACCOUNTING -}
. (Regular and Repeater)
Compulsory

Time:3Hours - | | Max. Marks : 80

Instructions: 1) Attemptall Sections according to internal choice. |
| &0508 o) HFI0 DY DNITERY) SVFO0.
2) Use of calculator is allowed.
59 ERCIeBIOT Wew RRRBId.
3) Give working notes wherevernecessary.
OGO 855F5 2000200, ‘

SECTION~A

1. Answerény ten of the following : ‘ . (10x2=20)
a) Givethe mear;ing_ of statement of Assets and Liabilities.
b) What are divisible profits ?
¢) Define goddwill.
d) Whatis liquidation of company ?
e) What are the methods of valuation of shares ?
f) State any 4 factors affecting valuation of shares.
g) Give a formut for calculation of no?rmal proﬁt.
h) Define bank as per Banking Regulaiion Act, - 1949,
i) How do you classify banking company assets ?
~J} What are performing assets ?
k) What is super profit ?
) Name any 4 operating expenses of bank.
P.T.O.
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SECTION-B

Answerany three of the following : . - (3x5=15)
2. Explain the methods of valuation of goodwill . |
3. The following are the particulars relating to Renuka Sugars Limited, Raibag :

Total Assets ¥3,00,000

Outside Liabilities ¥1,40,000 o

10,000 equity shares ofz 10 each fully paid 1,00,000,

Proposed dividend at 20% on the above shares.

Calculate Net Assets available to equity sharehoiders.

- 4. Fromthe following particutars of Vrashabhendra Ltd., calculate gooawill at three

years Purchase of the average profits of the past 4 years.

Year Profits Weights
2013 50,000 1

2014 64,000 2
2015 80,000 3

2016 1,00,000 4

Calculate the value of goodwill under weighted average profits method.

5. From the following ihformation of Janata Bank Ltd., prepare P&L. Account and
calculate statutory reserve as on 31-3-2106

Particulars | | Amount .
Interest eamed ‘ 2000000
Other incomes | - 5,00,000
Interestexpended - 9,00,000
Operating expenses | 6,00,000
P &L A/c (balance on 1-4-2015) (Cr.) 5,00,000
Rebate on bills discounted : 50,000
 Provision for doubtful debts 75,000
Proposed dividend -~ 1,50,000

Provision for taxation | 3,00,000
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6. The Hopeless Ltd. went into liquidation with the following liabilities.

Secured creditors ¥ 20,000 (securities realised ¥.25,000), preferential creditors
¥ 6,000, unsecured creditors ¥ 30,500, liquidation expenses T 200.

- Assets realised ¥ 26,000. Liquidator is entitied to a commission of 3% on amount
realsied including security.

Prepare Liquidator's Final Statement of Account.
~ SECTION-C |
Answer any two of the following : _ (2x15=30)
7. a) What s effective capital ?
b) From the following pa_rticﬁlars of Radha K?ishna Ltd. You are required to
calculate the managerial remuneration in the following situations.
1) There is only one whole time director
- 2) There are two whole time director , ‘
3) There are two whole time directors, a part time director and a manager.

4) There are part-directors when there is no manager or managing director
“or whole time director.

5) There are part time directors, when there is aAmanager or manag'ing
director or whole time director.

" Net profit before provision for income tax and managerial remuneration but
after depreciation and provision -

Forrepairs 12,40,100 :

~ Depreciation provided in the books 5,24,000
Provision for repairs on machinery during the year 50,000
Actual expenses incurred on repairs during the year 40,000.

8. X Co. Ltd. went into voluntary liquidation on 31-12-2016. The following are the
particulars provided by the company. A '

1,500 equity shares of% 100 each % 75 paid up 1,12,500
750 equity shares of 100 each % 60 paid up 45,000
Unsecured creditors 3,60,000
Secured creditors (security on plant) L 1,50,000

Preferencial creditors : 30,000
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The liquidator realised the assets as under :

Cash , 15,000
Stock | 90,000
Land and Buildings 3,00,000
Plant 2,10,000

The liquidation expenses amounted ¥ 4,200. The liquidator is entitled to a
commission at 3% on the assets realised (excluding cashj and at 2% on the
amount paid to unsecured creditors. :

Prepare the Liquidator's F inal Statement of Account.

8. From the following information, prepare the P & L Account of Jagruti Bank Ltd.
for the year ending 31-3-2017 and the hecessary schedules : .

Interest and Discount | 4,60,000
Income on investrr_\ents 40000
interest on balance with RBI - | 20,000 |
Commission, Exchange and Brokerage 1,60,000
Profit on sale of inves_tme'nts 20,000
Interest on deposits : 1,30,000 |
Interest on borrowings from RB} 35,000

Payments to and provisions for employees 1,40,000

Rent, taxes and lighting 40,000
Printing and stationery ' 30,000
Advertisement and publicity | 12,000
Depreciation on Bank's property : 8,000
Directors fees | 24,000
Mdﬂom fees and allowarices 16,000

Law charges 10,000
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Postages, Telegrames, Telephones efc.
| Repairs and maintenance

Insurance

Other information :
- a) Make provision for income tax

b) Provide for bad and doubtful debts

36323/C 230

4,000
14,000
2,000

Z 15,000
Z 12,000

¢) Provide for rebate on bills discounted ¥ 8,000

d) 25% of the profit to be transferred to statutory reserve.

e) The directors have proposed a dividend of X 40.000. Provide for tax on this

dividend at 15%.

10. The following is the Balance Sheet of Akash Ltd. as on 31-3-2017:

1) Equity and liabilities :
1) Sharehoiders fund:
Share capital
Reserves and Surplus. .
2) Current liabilities : |
| Trade payabies : Sundry Crs.-
Total Equity and Liabilities
11} Assets :
1) Non-current Assets X

Tangible Fixed Assets
 Intangible Fixed Assets (Patents)

Note No. Amount

1 4,00,000 -
2 1,24,000
3,76,000
9,00,000
3 4,50,000
70,000
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2) Current Assets : _
Inventories : Stock- _ - 1,00,000

Trade Receivables : Sundry Debtors =~ . 1,60,000
Cash and Cash equivalents : Cash at Bank - 1,20,000
Total Assets : 9,00,000

Notes to Balance Sheet as at 31-3-2017
Note -1 Share capital :

4000 equity shares of¥ 100 each fully paidup 4,00,000
Note — 2 Reserve and Sumlus : '

General Reserve : - 80,000

Surplus : Profit as per P & L A/c 64,000 |

Less : Discount on shares 20,000 44,000

Reserve and surplus 1,24,000

Note - 3 Tangible Fixed Assets :
Land and Building 2,00,000

‘Machinery 2,50,000
Tangible fixed assets 4,50,000
The Market value of :
LandandBuilding  3,00,000
" Goodwil 3,50,000
Machinery 2,20 000
The profits of the company were :
2014-2015 | 1,60,000
2015-2016 140,000

2016-2017 1,80,000
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The Company follows the practicé of transferring 20% of the profit to General
Reserve . Similar type of companies eam at 10% of their shares.

Find out the value of equity share of the company as under :
a) Intrinsic value method -
b) Yield method

c) Fair value method

SECTION-D

Compulsory. s " (1x15=15)

11. The Kamataka Company Lid. invested < .1,00,000 and the normal profit earing |
is at 10%. The company earned profits /loss in the last 4 years were :

Year2011 - Profit¥ 20,000

Year2012  Profit¥ 30,000

Year2013  Profit¥ 40,000 -

Year 2014 Prof_it? 10,000

The company values ihe goodwill under the following cases
Case ~ 1: 4 years average proﬁts'aﬁd

Case —2: 4 Years super profits

Find out the value of goodwiil in each case and which of the goodwill ybu accept
and why ? Explain. : '
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lll Semester B.Com.3 Degree Examination, Nov./Dec. 2017
PRINCIPLES OF ENTREPRENEURSHIP DEVELOPMENT

(Fresh and Repeaters New Syllabus)

Time:3 Hours Max. Marks : 80

Instruction: Answer all the Sections according to the internal choice.
BRI+ DR DGIINTIRY S0FOF SO SrdraidN eugoso

SECTION-A

1. Answer any ten of the following. (10x2=20)
a) Who is an Entrepreneur 7 |
b) What do you mean by Village Industries ?
¢) Mention four functions of women Entrepreneurs.

d) Define the Innovation.
“e) What do you mean by problem solving ?
f) What do you mean by uncertain bearing ?
g) What is franchising ? |
h) Mention the opportunities for women in urban area.
-i) What do you mean by creativity 7
j) Mention the pfoblem solving methods.
k) Whois a first generation entrepreneur ?
[} Expand the following :
i) AWAKE
i) NAYE.

P.T.O.
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SECTION-B

Answer any three of the following. : , {3x5=15)

2.

3
4
5
6

Distinguish between entrepreneur and manager. -

. What do you mean by enterprises ? Explain the features of enterprises.
What do you mean by KVIC ? Explain the functions of KVIC.
5. Explain the stages of creativity.

. Discuss the barrier to problem solving.

" SECTION-C

Answer any two of the following. - (15x2=30)

.

8.
9.

10.

11.

Define entrepreneur. Explain the function of entrepreneur.

What do you mean by small scale industries ? Explain the characteristics of
small scale industries.

Define women entrepreneur. What are the reasons for starting women
entrepreneurship ?

What is creativity ? Explain the creativity process.

SECTION-D
Case Study. | ‘ _  {(1x15=15)

Mrs. Revati, science graduate did her pbst graduation in ‘Food and Nutrition’..
Worked with a physician as a Dietician for 6 years. Simultaneously worked on
part time as consuitant on Health and Dietin her friends Mrs. Vijayawhorunsa
Gymnasium. Mrs. Revati is interested in starting ‘Health Club’.

Guide her on the following :

a) What business is suitable for Mrs. Revathi ? Discuss.

b) What problems she may face while starting the unit ?

¢) Is it that she should continue in the same job or get herself self employed.

Give reasons.
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Il Semester B.Com.3 Degree Examination, November/December 2017
INDUSTRIAL ECONOMICS
(Fresh and Repeaters New Syllabus)

Time : 3 Hours | _ | | | | Max. Marks : 80

Instructions: 1) Allsub-questions should be answered atone place continuously.
Quote facts and figures to suppori.

TRUED: DT v GPorie.omde s vugt 0o, ek eos-eoshioolrt
o s AOpEAR

2) Answer toall Sect:ons shou!d be written in the same answer
book.

o) eoapmrt"efg;’o?f@@aodc BT 30N, 28000

SECTION-A
g - @
1. Answer any ten of the following questions in 2-3 sentences each. :
IPNSYNTE, B3T3 BZE 2-3 TNV 0vgord. ‘ (10x2=20)

a) What is industrial economics ?
-Jgplern wﬁrma 20TBe 9

b) Define joint sector.
RKo0d0E SOOI, TN,

c) What is privatisation ?
S0ORNCBTED DOV ?

d) What is e-Governance ?
B~ SBOB BB

e) Expand FERA.
.3, 60%.a. (FERA) £330 280000.

P.T.0.
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- f) Give the meaning of liberalisation.
0BT 9BF QeBD.

g) What is industrial location ?
3rod® #@eé QBT OB ?

h) When was EXIMbank established ?
EXIM £33,08> 0350a50n R9eS035000080 7

i) What do you mean by external sou.rces of finance ?
439, BEVTOAT TR DOTBER> ?

j} Give the meaning of Foreign collaboration‘.
QT3ed RBOIRENT BPF &PRBO.

k) State any two advantages of FDI. |
236 60 B30 CINTTREIR F8E BO3REWNT), BEYO.

) Define foreign capital.

DTed WoBIE w523, BRAD.
 SECTION-B
QYRR - W
Answer any three of the following : :
NS evots RanTE, HUS0R0: o (3x5=15)

2. Explain the factors inhibiting industrialisation in India.
03B, §rosedtas BRCHTNTIE SOBTIFE) DZOAD.

3. Write anote on Iiberalisation_.
TOTEIT Wi} 8359 25TO000.

4. Describe the factors_influenciﬁg industrial Iocatiori.
§770m FPEBTEors adedd Bemss LeddR OBRYRY Fede A0,
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5.

Explain the working of SFC's. _
D%, BEABOR ANRONS (SFC's) Foodm F 230000, SORO.

Examine the EXIM policy of India.
POTBLT &I~ O De303) TOBEORD.

SECTION-C
PN - 8

Answer any two of the following ; | |
BN et ATWE wUB0R0: | (2x15=30)

7.

.10

Examine the main features of Industrial Policy of 1991.
19918 0w dedadd B eBeane) Bodedro. -

Examine the Alfred Weber's theory of industrial location.
BET’ 30078 §0T BPeFBT ATHOSI) HOBORD.

Discuss the institutional sources of industrial finance in India.
YOS, 00 BEITAS FOAT RAUNER) t33F R0,

What is FDI ? Explain its merits 'and demerits. A
T3S JeC B3 0BT ? 95T rbmdrbsaﬁ@da DTO/D.

SECTION-D

dyn-a
Case-let :
?%)3- &)Césmﬁ : ’ (1x15=15)
11. The Information Technology (IT) is the fastest growing sector all over the world.

It is acting as an engine of growth and prosperity. It has turned innovations into
opportunities. The IT sector is responsible for creating more jobs, new businesses
and has added to the Government Tax Revenue. It employs millions of people,
contributes billions of Dollars in taxes and adds trillions of dollars to the Global
Economic prosperity. The policy of the Government of India is towards favouring
the IT industry. |

Questions :
i} Explain the role of IT in e-Banking and e-marketing.
ii) What are the advantages of {T ? | o
ilf) What are the initiatives of Government of India in fostering IT growth ?
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]} Semesier B.Com.3 Examination, November/December '2017
(Fresh & Repeaters) (New Syllabus)
BANKING LAW AND PRACTICE

Time : 3 Hours | N ’ Max. Marks : 80

Instructions: 1) Answer all the questions subject to internal choice.
0805 507106 D 2 gInert ctus’az:a
2) Question No. 11 (Case Study)is compulsory
FZF-x02d 11 (500 ez ada) smgatioonat

SECTION-A
SATA DY B )
1. Answer any ten of the following. | S (10x2=20)
WeTT BB JINON LZ0D.
a) What is cash credit ?
SN TR TITERD ?

b) Write two reasons for dishonour of cheques. ~
 LR,080R MREER IRNYR) P CRRS O aadtaﬁ#ab LB000.

¢) What do you mean by Industrial Banks ?

B3, eNE 239, 08N 0TBe ?
d) What is law of limitation ?

TCIREH S FoBRR o3 ?
e) What is postdated cheque ?

RO DTD0FES ¥8Y orTe>?
f) Who are the parties to cheque ?

- BBYNYE NSO odRdd ?

P.T.O.
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'g) Expand the following terms.
BN DRORD.
i) MICR
ii) RTGS
iii) IFSC
iv) NEFT. - |
h) Write two features of fixed dep&sits account.
00033 BesdeS a7 > Ity 23000,
i) State two reasons for Closing Customers Account.
MBS 2003 d»@ 0308, TR TTLINTRY 30X,
i) Whatis Intemet Banking ?
303eEoF © TR 080N" QOTTER?
k) Whatis Double Crossing of Cheque ?
B3 el Teaded NOTITE ?
l) Whatis Social Banking ?
AR L3 080N DOTTeRD?

SECTION-B
ToN-W

Answer any three of the fdllowing.
wiesr SoetE GuZoRD.

2. Explain the agency services of Commercial Banks.
Sedzg, 2,080 T 03F 0T Beadne) DOR0. |

3. Explain the subsidiary relationship between Banker and Customer.

17,080 Ry MR FEDS SRIHONE RoLFHERDHORD.

(3x5=15)
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What do you mean by General Crossing of a Cheque ? Give specimen of crossing
with explanation of each.

B3 maba% Teadeo OB 7 ? Fac3powd mcﬁeodado 20e0% DR Deqd.

What are the precautions taken by banker while openlng and operatmg minors
account ?

ST TODF, FFod PR, FTI0TR WBY DTF LROTON W, 08T
Eipat TobS ﬁmd ﬁ abﬁ%@@ ?

Give the meaning of Electronic Fund Transfer. Explain its advantages.

DTS VD WrioF SEoD Slolganviiie e vTialel emoéﬁeﬁgs.}‘ DWOXD,

SECTION-C
WPen-%
Answerany two of the following. |  (2x15=30)
1eEn SO@E, 000, -
7. Define Bank. Explain the primary functions of Commercial Banks.

10.

3,08 30,83, Bro®. S0, L, 08ME TRHDT T2 TITR) TORO.

The relationship between Banker and Customer is primarily that of debtor and
creditor. Discuss.

£39,080 &332 Mo, BB0 B0LIOE TRHRTN TOTRT 3083 TR, 1ddr2d.

What is electronic banking ? Explam its advantages to Bank, Customer, Traders
and Government.

DTWYTY LI, 0807T 20T ? OO @88011, 20801, &39,T0NeR B3 R "mrd@
S Ta0N e&ﬁmo@ﬁe}m QOXD. . .

What is the procedure to bé followed by a banker while opening Saving Bank

Account ? "\

UPB03 090D BEOIET LT, 0BT LRIRORIETT DPoTHR, DFSORD.
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SECTION-D
-
Cése Study (Compulsory). - (1x1 5;1 5)
B0 g 0BT (BEED).
11. As a banker how do you deal with following cases ?
130,08000 3053 $NS RoGeIr v, Bert FTBORXO?
a) A Cheque dated 15-2-2017 is presented for payment on 17-5-2017.
15-2-2017 08 o0 138 17-5-2017 Bomd Be Homocisd 100mn.
b) A Cheque cutinto two pieces but pasted and presented for payment.
238 TR FO0TN ST 0k _z:m 0¥ Bed z:’omo’bi WO,

c) Afixed deposit receipt of Rs. 5,000/- payable to Shilpa on 15t July, 2017 has
been presented for payment on 131" June, 2017.

50 3BT BROSYTT5,000 Trezmoied da_oc(ﬁné Beased amam -07-201750,
3RBIZOT)), 930 13-6-2017 0010 Fed ROTDOI ROTIHOWRE) BETIN.

d) AnAccount Payee crossed cheque is presented for payment over the counter.

MATIFS 203K IR, DOW Sedeo At 2B, SNOMN 08T FP0OIY,
ATTBRATN. '

e) ACheque dated 15-6-2017 presented for payment on 1 ot June, 2017.
15-6-2017 D008 Brodd &%1 0-6-2017 o e x:’oaaod:@ TOTICRBITION.
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Il Semester B.Com.3 Degree Examination, Nov./Dec. 2017
(Fresh and Repeaters — New Syllabus)
- RETAIL MANAGEMENT

Time : 3 Hours . | Max. Marks : 80

Instructions: Answerall the Sections according to internal choice.
TRLITNY : FSkeorDd QN Iebe ¢e308 sodyod &sd ggrert
- ewas |
Question No.11 under Section -D is compulsory.
5N ‘& Y gg 11 @00,

SECTION-A

1. Answerany ten of the following : A | (1 0x2=20)
a) Give the meani ng of Retail management.
b) Whatis E-Retailing ?
c) State any two characteristics of retailing.
d) Whatis unorganised retailing ?
e) State any two advantages of o'rganised retailing.
f) What is Retail Expansion ? '
g) Whatis Franchising ?
h) What is FDI ?
i) State any two objectives of pricing.
i) What do you mean by market penetration ? -
k) Define marketing mix. |

I) What is sales promotion ?

P.T.O.
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SECTION-B
Answerany three of the following : (3x5=15).
2. State the challenges faced by retailers.
| 3. Distinguish between organised and undrganised rétailing.
4. Explain in brief different methods of retail expansibn.
5. Explain the objéctives of pricing.

6. Explainin brief elements of retail marketing mix.

SECTION-C -
Answer any two of the following : - (2x15=30) .
| 7. Explain the advantages and disadvantages of E-retailing.
8. Explain in brief the different modern RetaiI‘Formats.
9. State “Arguments in favour and against FDI in India”.

10. Discuss in brief various types of retail pricing strategy. |

SECTION-D
Case study (Compulsory question): - A ~A (1x15=15)

11. Mr. Dayanand is planning to start a super market in Belagavi to provide all kinds
of goods to fulfill the needs of the locality. His super market will provide all
varieties of goods from grocessary items to electronic goods. He wants to create
the awareness about his super market in the region.

1) What promotion policy he can use to promote his super markef ?
2) What are the tools used for sales promotion ?
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1.-

dgR s
ogen -

emon B, wdord: o | © (10x2=20)
a) $coB mﬁmd QW DBOD eﬁrd@l eR0.

b) HTEYS 3BBN RTCBTBRDT?

C) 30BN sRF0E TR rOEaeBndR) Bewd.

d) emogess acbsx?mwdéoddemo |

e) RopEsB 3B ERTITE TR RBRUINTI) Bewo.
1) 80589 s, TT DTS 0TS ?

g) apg,ozsdmon‘ aoddea’o ?

h) &cded SeT woreos m@?}' aoddeab ?

i) £3¢3 ANDEBTreT TR m%e#ﬁs*ail Bewd.
i) S0, Sorons 2oBde>?

k) @008e303 D0Zes ma.éaq‘aﬁo.

1) Rrook BT 0Bt ?

QR — W

e eTE, UBORO: : | | (3x5=15)

2.

300 0T ARORIGTD RLOTIR), BeeO.
RoPLI8 Tor BROTHS $08 TITE FBYRIR $OR0.

889 3,00 DRTBO% DG DRI, FoFTTN DO,

33 andedsss SUTEBNIR), DWORD.

835808 ST, 08B ReeREBRTR), BB DO,
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Ngon - %
et D8 z}gg\'@ﬁ GUB020 ;. ' (2x15=30)
7. &Ddg,@ﬁ $008% a0 SRR TR OTORBROING), HTORD. |
8. GHRE 0o RTRO DO BT/ BRI, Rogemn HFOR0.
9. (RoscY, Duked S0 wodmy Eodtos N ) DT TR Beeo.
10. #0080 s, T08 136 AROEBSEIE DL BETB Bogriea FosToN tEsr 0.

dyen -d
ks oot (3mab 39) : . (x15=15)

1. e godnion st Fpecd MTEo) Farevrda Fuomon uky 3 BN e FBoos
aiﬂd)ﬁ@& a;fraw PVt 'adcb tomaohd) “Redo* aind:&i O, TS
abarsbs dpens A, |asty JeJo® m&ﬂsodo EATATA SR fove zﬁrbﬁmd &cmtsi
TOERONOOT TS RN, g R eseirawfé 3. 'add:: Sdggdeeﬁd %BI0S,
NS Iwe WODATRT.

1) @ B2 ResoRy RROL 3y Aoxo” Indde, et BndREE 9
2) TR0 TeRs BRBe WHR TR (CuEsts) IRy ?
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Reg. No.

lll Semester B.Com. 2/B.Com. 3 Degree Examination,
November/December 2017
COMPUTER APPLICATIONS IN BUSINESS

Paper - 1l (Regular and Repeaters)

Time : 3 Hours : , Max. Marks : 80

Instructions : 1) All Sections are compulsory subject to Internal Choice.
2) Section D is compulsory.

SECTION — A

Answer any ten questions. Each carries 2 marks : ) ’ ‘ (10x2=20)

[ U O — Y
o 2 5 ©

© N O R WN -

Define workbook.

List any two cell references in MS-Excel.

Name the function key used to edit the cell contents in MS-Excel.
What is Data Filtering in MS-Excel ?

Mention any two uses of Database System.

What is key attribute ?

Specify any four commands of sort and Filter group in MS-Access.
Write the use of reports object in MS-Access.

Name any four controls of MS-Access form.

Expand PCS and TPS.

. What is the role of System Analysts ?
. What is Teleconferencing ?

SECTION - B

Answer any three questions. Each carries five marks : | (3x5=1 5)

13.

Prepare a format in MS-Excel showing the employees salary statement
considering the columns SI. No., Name, Department, and Basic Salary. And
calculate DA as 50% of basic salary, HRA as 20% of basic salary and PF as
13% of basic salary and finally calculate the net salary.

P.T.O.
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14. Describe any five Text functions of MS-Excel.

15. Explain DDL and DML. |

16. Wirite the steps for creating table using design view in MS-Access.
17. Describe the benefits of MIS.

| SECTION — C
Answer any two questions. Each carries 15 marks : (2x15=30)

18. What are charts ? Explain the elements of chart and write the procedure to
insert a chart in MS-Excel.

19. Discussthe dlfferent components of Database system. Mention its advantages
and disadvantages. :

20. What is form ? Write the steps to create a form showing the necessary dialogue
boxes.
21. Write short notes on :
a) Structure of MIS
b) Data types in MS-Access
¢) Alignment group in MS-Excel.

| SECTION - D
. Case study (Compulsory) : ‘ _ (1x15=15)

22. Consider a KPTCL database in that create a Bill Table wnth the fields consumer D,
Consumer Name, Meter No., Previous reading, present reading.
Perform the following operations.

a) Create the above table with proper data types.
b) Insert five consumer details. ’

¢) Create a query to calculate total units consumed and Biil amount considering'
Rs. 4.25/unit. '

d) Display only the recofds whose total unit is above 400 units.
e) Arrange the records in the descending order of Bill amount.




 EEENEREE " 36326/C 260
| Reg. No. | |

lll Semester B.Com.3 Degree Exammat:on, Nov./Dec. 2017
BUSINESS STATISTICS :
(Paper - I) (Regular and Fresh) (2016-2017 SVIIabus)
Time : 3 Hours Max. Marks : 80

Instructions :1) Non programmable s:mpie calculator is allowed.
2) Working steps should be mentioned.

SECTION-A

1. Answerany ten of the following : (10x2=20)

Weson B agalri@ﬁ VSO0 :

a) Distinguish between primary data and secondary data.
TRHAT TN Q8ecd TR Liers S9A.

b) State two limitations of statistics.
0T TORTS BIETOT TR TREENTE), Bewd.

c) Mentlon any two merits of random sampling.
SBRT SERTOED TR RN Bewd.

d) Define percentiles. Give the formula forP,,in contmuous series.
ZBRR0BNY w3, BRR0. BB Ferdatoor on [T AW, WSOW0.

e) Mention the types of graphs you have studied. o
Qe SRR RRBT 330 &)qirh*aigt Bewd,

f) K E(X) =6 find E(2X + 8)
E(X) = 6 98 E(2X + 8) &3 t3¢ 50R0&B00D.

g) Define standard deviation.
IRIT DB ma:? 8RO,

h) State any two ments of method of least square. :
r!:oa% '_asr{r DT O TR TR ROFEROBRY), TePD.

i) What do you mean by random variable ?
STYB LT 0T ?

j) Define Karl Pearson’s coefficient of skewness.
FOE QOO BRI RSB0 ROm0ER = .33, 3080.

- k) What do you mean by secular trend ?
DegHF 8 BRS HoETeRd 7

- : 1 8
1} For two independent events A and B, P(A) R and P(B) =7 Find P(AB).

A 233 B 0@ 3308 Pusid P(A) =5 5 &% PE) = —«adasas NGY

P(AB) oD 23@3&1333 FORNROND. P.T.0.
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SECTION-B _
Answerany three questions of the following : ' (3x5=15)
SINSIIIQ CRFTT Wnech FIrer eugoro: | |

2 Following data represents the total number of students in two colleges, represent
- the data by a suitable diagram.
TR FSeond) avdss O LPFNY 2utd) Toss, DFOII), Al e=bnhiad S0}

QTRRRDTI 2,00 o&raergasacﬁ de&m wgm 37'2030&)

College ~Arts  Commerce Science Total
SOTTAITTY LD 300 werdy R b3,
College—A | 350 400 600 1350
RTNTIYVoH-A .
College-B 3 300 450 650 1400
DI, LH-B | |

3. Calculate Qq, Qg, Py, and Pgg for the follomng data.

NS NSTHR 01, Qg, Pyg 3533 Py, rf%fab FOBIEEOD,

X: 100 200 300 400 500 600 700

f: 6 13 15 18 12 7 4
4. Calculate 3-yearly moving averages for the folloWing data.

NS mgszt’g BT IR 230 xca#eomig{ FOTOEROND. .
Year: 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012
oo - o : |

Y: 180 182 190 185 198 205 210 200 215 225 228
5. Calculate Range and coefficient of range for following data : :

BN 538 BoeIdr WO Torte TON0S0DH TR OB, FotBIEBON0D.

X:10203040506070&)
f: 5§ 7 11 15 19 10 8 2

6. Find Mathematical expectation for the following data:
39N ST nedzags 0eESaR) BOROERO00D.

X -1 0 1 2
g 1 L 3 2
X) 5 10 10 5
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_ SECTION-C -
Answerany two questions of the following :

NS etors LT IIRenR LugoR0:

7. a) Forthe following frequency distribution calculate mean deviation from mean.
NS mﬁm’g N33 030030 ITHFO LWL FoRIBROD.
X: 10 20 30 40 50 &0 ’
f: 8 1220 10 6_ 4

b) Draw ogive curves by less than method and more than method for following

data. (7+8)
NS He) Nﬁ QOB A0S Bﬁé /-00503 555&”)3 3o,
Weekly wages 100-200 200 300 300 400 400 - 500 500— 600600700
vplelafaryvte]
(in Rs.)
No. of workers 4 9. 13 . 10 8 6
BROTITT Boss, ‘

8. a) What is skewness ? What are the types of skewness ?
DRDB 0TTEI0 7 DWRIBOL BTN ABRYR) ?
b) Calculate Karl Pearson’s coefficient of skewness for the following data. (3+1 2)
FINT BES0W0T T FLONT AT DWRIBOD NMIFI0T FOBABOND.
Profits : 0-10 10—20 20-30 30-40 40-50 50-60 60-70
03 : :
(Rs. in lakhs) _
No.offirms 8 = 12 20 30 15 10 5
- RNy Kosd, ‘

9. a) Define mutually excluswe events and give two examples
HWORT DWVD PRING 3,33, B0 abé_g QOB LVTHIOT BELO.
b} If E(X?) = 74 and E(X) = 5, find S.D. (X).
- E(X?) = 74 moneE(X) = 5 95, SD(X)3 3¢ 50m5880200. :
c¢) Abag contains 5 white balis and 4 red bails. Three balls are drawn randomly
from the bag. Find the probability that

i) Allthe drawn balls are red balls.
i) Atleast one of the drawn ball is red ball.

5 10 2d 4 Bom oronteToat Lomb 2ewD0E 3 HarieR) e .
VNS Noz;imeobéoﬁ?b BOTR0EEOND. (4+3+8)
i) TES 2R Bororish o 1oBnTONGIBS,

ii) BB BoBond BRI, 20T 30780 Bog) L300 Rlebcind
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10. a) State two properties of method of ieast square.
BRG, DN aﬂcéaod: TR rbsadd)rm%aigl 392,
b) Following are the figures of production (in'000 quintals) of a sugar factory.

| (3+12)
20032 ﬁgd F200F S ('000 8,068 1YY ) VBRTB0s0 NS0T, )
Year: 2006 2007 2008 2009 2010 2011 2012 2013 2014
SR | ' : ,
Production: 53 60 63 65 72 84 90 8 @
wa?pé

- i) Fita straight line t'ren_d by least équare method and calculate trend values.
BT, [N VEBO0T FoFSes ge:’&g@dgl 9,000 3302 B3 wISnTy sord
&EIO0. | S |

ify Draw the graph of trend values and original values.
BFS WONY B2 RoremAT e Ti0.

SECTION-D
Case study (compulsory question) : S 15
TBT G 00 (Bwed I3) : : |
11. You are a member of selection committee for cricket. Your job is to recommend
either cricketer-A or cricketer-B based on their runs scored in 10 innings. If

consistency is the criterion for selection, whom do you recommend for selection.
The following are the runs scored by two cricketers in 10 innings.

Des3 8 03y BR0S0 BTN, Dy SR §810°-A e 3810°-B 5L,
22900, 85033 SRTED [HOWDD B VOTTNIHY, NTAT LLINER), 55300 FOB AERRIT.
2003 5368 483030 BRTVFOFPTS 0 CIRTR) 1303, HRBWED FUE DEBX0.

[T FBWNCO B BRI, VAT Lt3ne D33 FPNS0sTs.

Cricketer-A 31 48 13 51 38 43 50 36 47 &
33T-A ‘ N -

Cricketer-B 51 5 12 8 37 12 42 18 7™ 20
$2u0°-B
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Il Semester B.Com.2 Degree Examination, Nov./Dec. 2017
Optional : BUSINESS STATISTICS -1
(Old — 2011-12 Syllabus Onwards) |
Time : 3 Hours | » Max. Marks : 80

Instructions : 1) Graph sheets and Mathematical tables will be
supplied on request. '
2) Simple calculator is allowed.

" SECTION - A
1. Answer any ten of the following questions :

a) Define ‘Business Statistics’.
b) State any two functions of Statistics.
c) Siate the basis of classification.
d) What do you mean by tabulation ?
e) State the various graphs you have stuched
f). Find the mean for the values

38, 34, 35, 32, 31, 40
g) Write the formula for calc_ulat_ihg Pos.
h) Find the range for the foliowing daté :

28, 34, 35, 32, 31, 40, 29
i) Define mean devnatlon
i) In a frequency distribution, if SD =2 and mean = 40, find CV.

k) What is the relationship between mean and mode in the case of positively
skewed distribution ? '

) §Q, =25 Q,=35and Q3 = 45 then find the Bowley’s coefficient of
skewness. (10x2=20)

P.T.O.
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. SECTION - B
Answer any three of the following :
2. Prepare a frequency table with classes 0 — 10, 10 - 20, 20 - 30 etc.

00 57 53 8 40 71 74 38 16 42
76 88 23 88 65 58 19 66 55 85
67 65 56 63 04 45 62 50 18 76
46 45 12 35 48 655 72 55 73 29
3. Explain the different parts of a good statistical table.
4. Draw Histogram and frequency polygon from the following data :
Class : |0-20| 20-40 |40-60| 60— 80 | 80— 100
f 15 25 40 30 10
5. Find mean and median of the following :
X 112 3)14|5])6
f 8 151 25 )22 | 12 8
6. Calculate CV for the following data :
28 32 36 40 44
7. Given mean = 65, mode = 80 and coefficient of skewness =—0.6. Find median

and standard deviation (SD). (3x5=15)

. SECTION - C
Answer any three questions of which case study analysis is compulsory :
8. Explain the methods of collection of primafy data with relative merits and
demerits. : _
9. Find mean, median and mode for the following data :

Class : |0—10| 10-20|20-30|30-40 | 40-50 | 50-60 { 60—70

15 o5 | a3 | 25 15

- f N




0 T A RS | 23326/C 260

10. Find mean deviation and coefficient of mean deviation from mean :

cl: lo-10!10-20|20-30|30-40]40-50|50-60| 60~-70

f : 3 6 9 13 8 7 4

11. Calculate Karl Pearson’s coefficient of skewness for the following data :

Marks : | 10-20 [20-30| 30-40 | 40-50 | 50-60 [ 60~70 | 70-80

f : 8 | 12 20 | 30 5 | 10 5

12. Represent the following data by pie diagrams to represent the expenditure by
the State and Central Governments. | | |

Areas Agriculture | Irrigation | Transport | Industries | Education
State Govt. '

(in lakhs) 210 100 50 40 150
Central Govt. - '

(in lakhs) 300 150 . 60 - 50 1B 100

13. Case study analysis :
You are appointed as Investment Manager of a company. Your job is to
_recommend ‘Buying’ either share A or share B based on their share prices. If
consistency is the criterion for buying which share do you recommend for buying ?

(Prices in Rs.)

Share A | 318|319 | 316323 | 320 [324 {322 325 322 (321
Share B 152 |132 |134 [132 [145 |142 |146 130 [146 |141

(3)(1 5=45)
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Roedined @ 1) &de wnb’ 2L nedE a’ra@a‘n%ﬁ eoa’as?ax) et

@;’og,’ﬁ’wnb@w
2) IR Measeioog ww’aimm:vm

A~ S
1. FNIINGY, wesors a2 ot evgord
a) 'FIBOB BosRTOR, ' T, ERA0.
b) #os:aﬁﬁad aﬂéfad BV o1 sacbr_ﬁ#_dgt BePO.
0) SNFeEBeE JEOS wodrva Hewd.
d) TTe3e80d PoB3ed 9
6) ©BedE DOF BPORYR) BHOR.
f) S9NS TR, IR0 OB,
38, 34, 35, 32, 31, 40
g) 258 33008 (P,5) FoBBO3VI o3, 208000
h) 39NS RS, & Ford LHBOWO.
28, 34, 35, 32, 31, 40, 29
i) AoORD DB T Be@D.
) wodd uEd HSoEon R ~ca~t) 40 ab@b #SRT &)zSoﬁ 2 350, BRFs s
BoRERO00.
k) B RSB, BOAW DISED Heds ATHRO Fo3) LA
RoLIor3sesd 7 _ o A
) Q=25 Q,=235=3 Q; =45, amn PO HRBBeH rOrEsE),
FoTEBOD. : A (10x2=20)
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39NS LSevos mracb 23r{e:ﬁ WSGR:O _
2 ésﬁ#ﬂdmﬁaodo 10,10- 20 20 - 30 5,0 SnF e ? &533 Rosm, iraeagdz:b

d&’;i‘o_@.
- 57

00
76
67
46

88

65
45

53

23

56
12

86 40
88 65
63 04
35 48

71
58
45
65

74
19
62
72

3. o3 SeEd DG PRrirvR) dFOR.

38
66
50

55

16

55
18

73

42
85
76

29
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4. 139N R00T A3 Formen 3 wod) G LEELIYIAYRY CARD.

e 0-20| 20-40 [40-60 | 60-80 | 80— 100

o38M: [ 15 ] 25 | 40 | 30 | 10
5. ddnsYnen Ress Fooxo ey T, 08 BoBOBRBOWD.

x ] 1| 2|8|a]|]51}6s

t :[8|15]|25|22]12]38

6. 93 BmoBrivod FRaF rEE ForleacO.

28

32

36

40 44

7. XooR0 = 65, wRUE = 80 DRIBoD MBS = ~ 06 Relany a'bc;%oiab& SRe
DBOT FoRGLBOND.

mparf -3
wemord Sondh ZIROR wvgdR0. Bwtd, B cr;r%qbd OBeRed TB &zac:bmﬁzﬁ
8. rhraned aba_g T S S B WR Rorjtaosd DRI, DOR0.

(3x5=15)
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0. $0ns Baasiiert el Rourd, SgR,08 St UELERIER) TomkBOTO

Sne : |o-10| 10-20|20-30] 30-40 | 40-50 | 50-60| 6070

eg3M:| 7 | 15 | 5 | 3 25 15 7

10. 39ns Smosneon RovRooor RooR0 DR Fod) FoIRO DR romweE SoRd

&EOD.
cl: lo-10]| 10-20|20-30]|30~40|40-50|50—60| 60-70
f 3 | 9 13 | 8 7 4

11. 3913 cEcBnect o' FROLORR'T DaEsEol RS JomotROWD ;

wosnw | 10-20 |20~ 30{ 3040 | 40~50 | 5060 ) 60—70 | 70~ 80

t: | 8 | 12 | 20 | 3 15 | 10 | 5

12, $91S Cmodrivos Toty AFQ S eor, RO S DY -
ned QBRLAD : o ‘ '

83, BT | AT mon emd‘:b 30
oRts, R 210 100 | s0 | 40 |150
(0¥ dr.) : . : ‘

8co, RO 300 150 60 | 50 |100
(o8, 85.) |
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13. DE0e LEoORE D |
ARG, 2,08 FoBIOL BRBEAD FRWMH 2050 DOLRRCNG. DY SR Bed -
LI5s 33 -1 NG WSRRIRO/ NDOCORLD AVB VEBRIJT). .ot 308 %dzéoﬁoo
ARTRBTES AR BTy DOERTED FUT VR0 2

| - @one (de.nvY)

Feod o [318]319 [316 (323|320 | 324 (322325 | 322 | 321

Zeod © |152 132 {134 (132 |145 {142 |146 {130 [146 |141

(3x15=45)
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Reg. No.

Ill Semester B. Com 2 Examination, NovemberlDecember 2017
MARKETING MANAGEMENT -
(Repeaters)

“Time : 3 Hours S ~ Max Marks : 80

Instructions :- 1) Answer all the questfons subject to mtemal cho:ce
2) Quest:on No. 1 1 (case study) is computso:y

- SECTION-A
;ngari—-

- 1. Answer any ten of the following-. ) o | {(10x2=20) .
: zﬂmd BL BIRVR LUZORD. o
1) What is market ?
ST, 0T ?
2) Whatis marketing ?
3P0 T 8,030 03 ?
3) Define consumer goods.
,BIT TR, m 83, Deted.
4) What do you mean by specuallty goods ?
5%, 3o AOBNSTTeRd ? S
5) State any two features of agricultural goods.
3 B0B0NS w03 OR> LA Bewd.
6) What do you mean by buyer behaviour ?
gy B IIrS 20T ?
7) Name any four ;ob opportunltles in marketlng
TRTTE, a%ﬁ';oﬁaqdm 2365003 4 wd:%emmafd@agt éﬁaﬁo&
' ' ‘ P.T.0.
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8) Whatis pricing ?
2363 QT DRINE 0TTE0 ?
9) Whatis new product ?
BOR TR L0TTER) ?
10) What is sales promotion ?
2P0k BB E 20 ?
11) What is buying mative ?
BRU)R 60 2osdexd ?
12) Expand ASCH. o
 ASCI £502 25000,

SECTION-B
QN —W
Answerany three ofthe following. (3x5=15)
HemE RTh PR L3080, o |
2. Explain the.functions of marketing.
- ST T 0ol FODF TR SORO.
- 3. Explain the marketing considerations fOr shoppihg goods.

DOTFY AT BROIRRRIRITY BONSRIET SoBReR) HSOR0.
4. Explain the stages in new product development. |

oA B0 RO BB OO0,
5. Explain the features of manufactured consumer goods.

YUB0T WHEMITT ROBONY OTLNTR), WO

6. Explain the tools of sales promotion.
SRR BB SoL FIAT HFOR0.
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SECTION-C
WLION—3F

Answer any two of the following. - : ' (2x15=30)
13503 0 FEeR togord, | | | |
7. Explainthe sighificance of marketing.

- oot By ok DBIIJR KO,

- 8. Explain fhe'buyihg behavioural models.
8% Ter Soh SREORER) DTORO.

9. Expla'in' the problems of Ag ricultural marketing in India.
[UITE) B SUBR R0 ARG R HTOR.

] - _ 10. Explain the phases of PLC.

SHDR 2603 POWT DO Bosng DTOR0.

SECTION-D
TN —-T

'11. Case Study. Itis compulsory. | » (1x15=15)
a) Draft an effective advertisement copy of LEDTV. '

LEDTV 5 S0momyso0 0t tte0oe T 2050m) So1R0k0.

b) Assume that you are marketing manager of LEDTV producing company. You
have been instructed by company’s managing director to launch a sales
promotion programme. What steps you are going to take to launch sa#es
promotion programme 7 - .

Q6 WOTD LEDTV levorte/{ove) 2o BRTHES o d"a—’%doda Se0B28 BNOLO.
Q= aaﬁgﬁaoi)rz’odréé QeI IR @déréo'b B0DFZRBNG, ﬁmf (9%

ARWATRT. DY 0IRT 8 SoneR) iew3e0 ?
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Il Semester B Com 2 Exammatlon Nov./Dec. 2017
: (Repeater)
-BUSINESS COMMUNICATI_ON »

~Time:3Hours o | - Max. Marks : 80

Instructions: 1) Answerall the questions subject toi mner cho:ce ineach
Section. '

) @mﬁﬁ?ﬁe@ﬁ&%ﬁaz’ow gIrrert ngose,

- 2) Section—Dis compulsory.
cD&JDif & EFIVTONT,

SECTION-A
pn—-e |
- 1. AnsWerany ten of the following: o - o (10x2=20)
- UEER TINO wgoR0: '
a) What are circular letters ?
RBRes DIneorndes> 7

) State any two essentials of good report
YO B 20R) 933 sszwm ée@a

¢) Define business correspondence.
R @w08 "’3 = wasadz:f opE) &a@e

d) Mentson any two types of mediums for transmission of messages.
R38R ), DRoRRED B3eHT @d& a’mqﬁ abﬁ#du BAORD.

e)- What is special report ?
2BeT DTO woTBeR 9

f) What do you mean by internal and external commumcat;on ?
ejoﬁ@ﬁ TN WO, BOTFE @ocﬁo"em ?

P.T.O.
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g) Write any two occasions of writing circuiar letter.
REred D3 ot DT ,ooc:fegrrfe:dglé%&

h) Whatis C.V. ?
7,0300 TO2303> oW 9

i) ‘Name any two types of oral -communication.
RRLT RoTTr 3 cdnyTse 0= QPRYS TR0,

j) Whatis meant by audio conferencing ?
es@odpe @Q}tﬁ@qon‘ QOTTER9

k) State any four kinds of busineés fetter.
<TI0 TR 200y OFrER) Bewo.

[} Whatis report ?

OO 0TTER> ?
SECTION-B
-
Answerany threeof the following: = o : (3x5=1 5)
AR TTTR R BIRT 68080 : '

2. Def:ne communlcation and describe the obgectlves of communication.
RORBET 29,58, &0 a@m RAOTFFT wde'dﬁ%*do WWORD.

3. Briefly explain the planning of a letter.
mjﬁ@do cdraez&:’o@a’d Golocebate.] 8 eTamN DESORD.

4. Draft aietter of enquiry to a supplier, requesting him to guote prlces for varlous
digital cameras and to quote term for bulk purchases.

ALV ;Déem@wﬂod T3 R TTOTING T ﬁmda'imwt@ﬁ edy{@ aﬁdocbab d)@o
ciracs wdmad DOOTA B3 wdebrw‘m 39D doé %i:aeo WOT QITFD —’35533 '
wd’o@o@ ‘

5. What are the objectives of sales letter ?
SO0 T T EBTDY ?

6. Briefly explain the essentials of effective oral communication.
TOBIRITIO RIPDB BoTIFF I edﬁﬁéﬁeﬁ_@l a’oggasan QTORD.
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SECTION-C
NTON—F

: Answeranytwoofthefollowing: _ - o (2x15=30)

Wezors Q8@ FIReT wU8o0: |
7. Construct a call letter and job offer letter by an employer of a company.

8.

10.

“11.

20T FOTIOR WROEBD BB LIBIT ienecy 03 Sesdont SEDRS TNV T30,
Draw a diagram indicating the position of each part and explaln the functlons of
business ietter.

RFT0 HFT DT eoninsd oS PNCY ToesRdeeh) @douodﬁo 8@33?336@0@??
ﬁuaas,qa mm R BBHOOT T2 SeDI3 PO R @d(mb

Explain the significance of good repont.
PUZR TIQAD B T3 TOXL.

Explain the merits and demerits of written communication.
DS RowBr RoIBIT e&moén’@m &358) emmoéﬁe}ab QDRBD,

SECTION D.
TIN—&

Case study (compuisory) : o ‘ - 15

EakiielolC nfoves (3ToBTAT ) : , _

A) Reliance Company recently opened new shopping mall marketing electronic
goods. In view of this they have decided to organise ‘Luckydip Context winner

will get Swift Car as bumper prize. In view of this which type of communication
is suitable and explain with reasons.

DRCLR RREES BomReboBged m@ SUTEBETIIR) ARTON RRRB TS
RO > TRTVORRT, B3 &oﬁejwa@ ERT A3 ) zawe‘@amd’ 83 qﬁroja
u&oa’maéaﬁ Alesviod wﬁaa‘mémﬁ &;od: R @d& é@@b@mﬁ é@e&%md 33

&SN CIRT BT ROTTF aﬁmqﬁdsmﬁmdﬁd fadsamiraoaﬁ é’odma

B) Students of your college have some problems which are genuine. They wish
to bring to the notice of the Principal. Draft a report suggesting non—agltational
means of communication.

QY mm@m LONT PR FoPh T ), ORIZ RER, LTI, @cﬁa@mémd
e.-sai)rf@;’do T, zswﬁos-d n’doﬁ@ éo’modo,omo" moaocbaz m'an’rwdraeiﬁ@oa’ '
s, mocbrd ﬁdﬁ Ne.?o:bod em:a’m dd@oﬁ.}m Nde.@n@ |

C) As aninterviewer what questions you prefer to place the cand;dates in more
comfortable position at the time of interview.
AODIFS SREIOBDHTN FoBTrS ISB0TIN, e:aeﬁ & ol emmfomodoa’mﬁ

NUSBROTOZ omd 30T "’571%3& ie#wocbmée@ 9




